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Mg = ————— = 1.17 X 107% = 1.2 X 10 mol
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1.01 x 10% X V, = 0.060 x 8.3 x 10% x 303
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Bl 2 Li, K, Na, Rb

B3 WREBKEFNITLNBREZNSZEICED, 2NaHCOs — NaaCOs + H20 +
CO:DRIEMEID, —BILIREHNANFEET D20,

Bl4 NaHCOs+ HCl — NaCl + H20 + COz

M5 B 2Cl- — Cl2 + 2e-

Fe#i: 2H2:0 + 2e- — Ha + 20H-

B6 EBMAOPHIZI0OTHDIDT, [OHJOEREIZ I1XI0 mol L' THD, HBMRE
DpHIZ 120 TH 572D, BEIT I1X102mol L' &85, KIEIZ40L THZD
T, AR L7 OHIE(1X102-1X10%)X400=3.996mol &£72%., L7zdi-> TEXK

B3 3.996%X9.65X10%=3.85X10°C, A.3.9X10%C

M7 BEBTRELZHEZENEBTCERLEZKEBD 4> & Cly+ 20H — Cl- +
CIO+H, 0 OREEEILTLED 28,
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7S D FREIE 8. U DT EIT 146
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BN HZ0 ZA5FOKNPEEET 5D T, BORLUBMOSTEIT
89+ 146—(18X2)=199

FERHZHWER Y RTF RO DR LU BAOEIEIL.
N SR L AR AR

1.99 g,/ (199 g/mol)=0.01 mol

HI8HD NH, & 7 £ F )T % & NHCOCH; 12722 T
CH,0 (3 FE42) ORTETHTFENEZSDT

(42 g/mol) X 0.01 mol=0.42 g X EL /525
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1.99g+042g=241g BZ24¢




